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ATEQ0f DAU1/U2 12 924 1703 170,000
ATES0f DAS1 12 924 171 160,000
ATEQ0f DAS2 12 924 1703 170,000
ATES0f DASA 12 924 171 200,000
ATEQ0f DAAL 12 924 1703 200,000
ATES0f MPA 12 924 171 220,000
ATEQ0f MPA1/A2 12 924 1703 220,000
ATES0f MPM1/M2 12 924 10 220,000
ATEQ0f MPS1/S2 12 924 1703 220,000
ATEQO cDC1/C2 12 924 171 200,000
ATEQ0f CDP1/P2 12 924 103 200,000
ATEQO CDE1/E2 12 924 171 200,000
ATEQ0f CDJ1/J32 12 924 103 200,000
ATEQO CbuU1/U2 12 924 171 200,000
ATEQ0f CDTH 12 924 103 240,000
ATEQO CDPR 12 924 171 240,000
ATEQ0f CFIP 12 924 103 240,000
ATEQ|0 CFAP 12 924 171 240,000
ATEL0f CFVP 12 924 10 240,000
ATEQ|0 EZ1 12 756 171 150,000
ATEL0f E42 12 1008 10 200,000
ATEQ|0 E43 12 1134 171 250,000
ATEO TISHAE - X = 12 420 10 100,000




